Basic Electromcs for EEE Swtream

§ %%‘ Max. Marks: 100
te: 1. Answer any FIVE full questions, clzoosﬁg ﬁ@g\E Sfull question from each module.
2. M : Marks, L: Bloom’s level , C: Course ‘%uicomes A
Module 1, ¥ S,  |[M|L| C
Q.1 | a. | Sketch the forward and Reverse ¢ arf%‘)i’-?mxcs for a Silicon dlod& and| 6 | L2 | CO1
explain it. . i ¢
b. | Explain the working of a Haif Syave rectifier with mpu"f%&pd output | 8 | L2 | CO1
waveform. % ¥
c. | What is Filter? Mention theity g; “of Filter. ) 6 | L1 | CO1
‘%@ OR
Q.2 | a. | Write the various Dl& e%pprommahona 8 | L1]|COl1
k. | With circuit dlagram%hd waveform, cxplam the quo?kmg ofaRC-mxfilter | 6 | L2 | CO1
using Bridge regn’ﬁer
c. | Explain the workma of a Zener diode as a&glf’a’*ge Regulator with no load. 6 | L2 | CO1
Module~— 2
Q3 |a. Ih, and  fora Transxstgn; that has a = 0.98 and«g = lOOpA 6 | L3 | CO2
b. | Drawgthe input and output ch&gaciéhstlcs of a com 8 | L2 | CO2
Transistor and explain it. %
c. | For the voltage divider bias cifcuit shown in Fi § Qﬁ(@ adetermine VB%VFE, 6 | L3 | CO2
Ig and Vce. Assume V=), 7V %
- FigQ2(c) «
oy ¥V OR . ¥
Q4 34 Explain the opcratxon of an n-channel JEET for various bias voltages. 6 | L2 | CO2
b. | Mention the advantages of FET over a BIT. 6 | L1 | CO2
c. | Explain the construction of Enhancement MOSFET. 8 | L2 | CO2
b L
Module — 3
Q.5 | a. | Mention the ideal characteristi€s of Op-Amp. 10 | L2 | CO2
b. | Define the following parameters of Op-Amp 4 | L1 | CO2
i) CMRR i) Slew ratéiij) PSRR iv) Input offset voltage.
c. | Derive the expression, of*woltage Gain of a Non-inverting Op-Amp. 6 | L2 | CO2
~ OR
£.6 a. | How Op- Amp céfn be used as an integrator. 6 | L2 | CO2
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b. | Draw the block diagram of Typical Op-Amp and mention the function of | 6 | L1 | CO2
each block. 4Y
| c. | For the circuit shown in Fig QG(C) find output voltage and 4 18 {L31cCo2
: ) \Qv’&:a_ N
a&w;i%%
Module ey | Y
1 Q.7 ] a. | Perform the following : 4 ¥ | 8 | L3 CO3
1) (532.65)=( hs=( ) 11),A@%i@0)16—( R=( Js
b. | State and prove the De Morganis theorem for two variables. “‘%% 8 | L1]CO3
c. | Using basic Boolean theorem prove that(x +y) (x + z) Xyt yz 4 1 L3{.CO3
OR
Q8 |a. or the Boolean expression 4 | L1} CO4
Y = ABC + ABCR.ABC . &
1 b. | Implement fuyx’ﬁ’dﬁusmv Two half addersa:id an OR-Gate. 8 | L3{C04
| ¢. | Simplify the fgﬂ%ﬁ{vmﬂ Boolean explessw‘hs% 8 | L3 {CO4
(A+B)§A B) i) ABC-t»ABC+ABC<3 '
ia@k
o Module—5 Ay
Q.9 |a. What'1s strain Gauge? Explain tf“ef"conetructlon of unbounded strain gauge. | 8 | L2 i COS
b. | With the help of circuit dlagram and waveform, &% iﬁ the operatl%%ﬁof 8 | L2 | CO5
LVDT. b "
¢. | What is Thermistor? bgg%% Q‘Q : 4 L1! COS5
Q-10 | a. | Explain the working of Photodiode. . - ¥ 7 | L2 ] CO5
b. | Draw the bl&’ﬁkydlaoram of Su 3 receiver and mention the | 10 | L2 | CO5
function of each block. : Y .
c. Mentxglxlxthe@need for modulatio\nl & Py 3 |L1|cCos



